EZEZRMEBERESEER

1.C 2.B 3.B 4C 5C 6.D 7.A 8BD 9.AC 10.BC

11.
12.

13.

14.

15.

1.0 (341 3.0 (34D

(D1.508% 1.5 (14

(3)100. 0 8% 100 (243 3.08,3 (24

(4)900.0 (243 & (141

fiff : (1D BEBR N A AR LL AT AR 20V, ARFR A ARG I A8 R R 40 1 78 AR S HoE A
P VE20p,Vo=npV, (243)

B2, e

(O BRAEERNZESERM p. FIES] p1 SRR BB SRR oo W28 SURBUAV X
o7 14 S A AR B S A
ng:p|V+p1V/ (2 ﬁ)

ﬁﬁi’"fgf b=

T @D
ﬁ@/&/@:%D (2 49)

fift: (DB =MILALK R L.t MON ik I W5E s MN Bl 21 4
BI'L+2BI'L=F (24}

Fuw=2BI'L (24}

15 Fyw=2N, (24

() B P UAE R A FL B R A

_2IR?
3R

I=I'+2I" (24

=1 @4

g ro=3 Q/m, (145»)
it . (DBEINER B T S B s I N R w0 » O M WG S ] s BE 22 R v AR L 2 2

E 24

mg‘h,:%mvoz 14

v, = tan 53°=wysin 53° (1 4
v,=gt (143)
y:%gtz a4sm

ﬁ@ﬁ%UM:S m/So (lﬁj}’)
(E=9E - - 2XE&% 100 2570)] * 24-260C -



()8 FHLE PQ #9442 o NRZEE Q A IHEIER N vo WU

—mg(r+Rcos 53° )— 5 muQ” *%mu\/ 14

r+Rcos SSOZ%gt/Z s

R(1+sin 53°) —r=wgt’ (149
#5458 r=0.3m,»=0.5m (14
AL R A
Ah=|y—Rcos 53°—r| (14
M r=0.3 m I, fE#E AL=0;Y r= OSmEITﬁ’q’: A=0.2m, (14
OBUNERZ I N G AR RN R o 223 P s EYEEE RNy op A

_lvaz a4

mgR(1—cos 530):%mvwz 5

mgR= 1m'vV 7%771'0[92 14

FP:% (149

2
FN:m;}QN +mg (14D

2 =0, 3 m B 71 5 Fre =50 N34 »=0.5 m B}, fi#15 Fox =48 N, (249

(=93 - %% g2m(3t2mn)]

i
i

+ 24 -260C -



